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Pre Calculus Foundations Math 10
End of Year Review—Chapter 1B

Name: KQA{

Block :

1. Determine the surface area of each object to the nearest square unit.
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2. Traffic markers are bottomless cones. If 75 markers are to be sprayed with
fluorescent paint, find the total surface area to be painted to the nearest square
inch. Traffic markers have a diameter of 10 in and a slant height of 16 in.
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3. Determine the volume of the object to the nearest square unit.
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4. The volume of a cone is 3080 cm®. Find the radius of the cone if its helght is 15 cm.
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5. Find the dimensions of the base of a right square pyramid if the volume is 5 m and

the height is 3.2 m. ) )
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6. Find the following:
a) Volume b) Surface Area
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7.. How much leather is required to cover a baseball with a radius of 3.6 cm.

SATMT S
@ -4y (B:0)

8. A spherical soap bubble has a radius of 2 inches. It lands on a flat surface and
changes into a hemisphere. Assuming that no air is lost, calculate the radius of the
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